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Dake 18/l 2o0S

Chapter 1: Chemical Foundations

1.

2

Perform the following calculations and give the answer rounded to the correct
number of significant Hgures:

Lok
15.415-14.515 £ 0.0402957
3.5
ay 0.30 b} 0.300 c) 0.3000 4) 0.3 2) 0.2999

The average velocity of oxygen molécules, O, at 1000 °C is 8.00 x 10% mis.
Calculate the velocity in kmv/h (k=1000, 1 h“—“60 min, 1 min=60 s).

8)2.16x10° B)2.52x10° ¢)2.88x10° d)1.80x10° e) 1.44x 10

The number of significant figures in the measurement  0.002090  is:

a) 3 b) 4 c)5 d)6 e) 7

Chapter 2: Namine Simple Compounds

4,

The correct name for the compound  comporad NGy st

a) Dinitrogen pentoxide b) Dinitrogen trioxide
¢} Nitrogen oxide d) Dinitregen monoxide
¢} Dinitrogen tetroxide

The correct formula for the compound Titerium{V} nitrate is:

a) TINO; 5) TINO, ¢) TLNO;
&) TINOs)s &) TiNG2)s

Chanter 3: Steichiometrv

6.

&

How many moles of C atoms are present in 52.0 g of CgHy?

2) 1.00 b) 2.00 ¢) 3.00 d) 4.00 &) 5.00

1£ 0.40 g sample containing C, O and M is burned in air to produce 0.53 g CO..
What is the mass percent of C in the sample? C + O, > COn

a) 21 b) 25 2 30. d) 45 €)36



10.

How many molecules of water are produced when 0.600 mole of CH; react
with excess 0,7 Avogadro's number = 6.02 x 16
CH4 420, =2 O, + 2H.0

a) 3.61 x 10% b} 4.82 x 10% c) 7.22 x 107
d) 6.02 x 10 e) 8.43 x 107

A 1.520 g sample of a compound containingb:ﬂy W and O is found te contain
1.06 g of oxygen. What is the empirical formula of the compound?

a)NO b) NGO c) N2Gs d) NG, e} NoOs

Y

What is the mass of sulphur that is formed when 8.50 g of HoS is reacted with

12.75 g of SC; according to the mnbalanced equation?

H,8 + 80, 2 S+ H,0O
(Molar Masses (g/mol} of H28=34.09, £0,=64.07. Atomic Mass of $=32.07).

a) 7.76 by 12.0 c) 10.6 d)5.18 e) 13.4

Cham’ér 4: Chemiczl Bezctions and Solutien Stoichiometiv

11.

12

A 0.50 g sample of HF (Molar Mass= 20. g/mol) is dissolved in water
to give 1.0 x 10° mL of solution. The molarity of this solution is:

2) 0.20 b) 0.25 c) 0.50 d) 1.0 &) 2.0

What volume {in mLj of 18.0 M sulphuric zcid must be used to prepare 10.0 L
of 0.200 M aqueous H,SO, solution?

a) 278 by 222 c} 167 dytil ) 55.6



fay
12

A 0.6000 g sainple of a2 metal chloride (MCly) was dissolved in water and
treated with excess agueous silver nitrate. The silver chloride that formed
weighed 1.286 g. Calculate the atomic mass of M.
(Atomic masses of C1=35.50, Ag=108.0)

MCL + 2AgNGO; 2> M(NGs + 2AgCl

ajy 152.2 b) 96.38 c) 62.90 d) 40.59 e} 76.00

\ A student weighs out 0.528 g of KHP {(Molar Mass=204 g/mol) and tifrates to
=" the equivalence point with 36.78 mL of NaOH solution. What is the molarity
of the NaOH solution? KHP has one acidic hydrogen.

2)0.0911  b)0.0784 ) 0.0757 400730 ) 0.0704

{H 0o frb
+ ot
/VQOU_“\) M (- “/

15. Balance the following oxidation reduetion reaction in acidic medium. [

NO; + I ——= 107 + NO,

coefficient of H,O

From the bzlaneed equation, determine the ratio: — y
coefficient of NO,

2 L b - 0 2 9

:

e
1



: The ¥ Loy Exam) Of(C mistry 101

Detail:d Answers
Dm of Fxam: 4/ /2005, Page { .

Chagler {1 Chemil Foundakins :

Question ¢ i5:415 - 14 SIS 4 00402957
N
&ra?egg *DWe subtrach ((5.4is~1451S) =5 The biral answer should hawe 3
dedmal pluces
B} Treanswer obtained on [0 shouid be divided on 3-S5 1 He ansuer
of this step Should be rounded 1o 2 sigmﬁ:mani-ﬂ:june
3 The answer obtained o pcmL 2 should be added o 0 ok o2a5F

Should contadn T decimal places-

l
Scluion: . GOo
0-4e8 -+ 0-O401STF = 0.26 +0.0L024STFH

3.5
= O- 24343355 %
_ A
= 06-30 cholce (@)

Question E18 tsing facker Label method

2
C"?‘ g £ 3 'y 3 v N
500 X0 vg = Qf) %ﬁ— using given equalions
' ] and daly .
05 . 60 minT 3
G{;kio Pl u_‘..[_i‘f_‘_n_-.}f. *5'—;'}'\._—--——-——- - 2, ¥ 10 Km 2
3 e X aen Lo T h 2:3% 0 choice [C]

QuesHor @ ¢ A CCC‘r'd?nS e Sig'nff'ECahl' ?-t'gu_mg rule?
= signiﬁicah%- ‘r-y'gu_r\é’s chéice (6]

$: 002040
e~
ok o
Sigﬁv a.:.iff]n'
example: Hows mang sight ficant fqures are v e fafowmg
) fa
(@) 30-00 (&) 000004 (c) 30:0% (&} 0.165050
A nswes 8 -
(e) 4 Sigmﬁaccm{- (p» 2 ngmiqu\}- €y 4 S!gmgcqn% (a) € sigmnaan
Hgm«eg Hgm'é r‘igb;re;, Pﬁqu@;
""’J‘—"“‘\JJ_‘ 57 N
0799888058 A B e ydy Ylndzt)
m”m_;m———ti—-Lf‘ f’l’\(‘#




Deteiled Answers For The (¥ Hour Exam; Of (Chemistry 101)
Pate of Exam: @&/ 1 /2005, Pagez .

Chopter 28 Naming Sirple Compounds‘é

@ueghbn Bl NiaOg (s named accordfﬁj fo the f:offowinj analysis:
A Is N anmwkl or mef-a]?, 5 O meka] or non wﬁﬂ? Both Nt are non mekds.
B Count na. & ddoms of N aa&f:’ng pre bix incficaf—fnf the no- of akoms present,
Hhe same thing (s dene Lor ©.
¢} 2: meens di- and S:means penta.
o) We shart narming From Lefl—s Right wrifng the suirble prebix belore

cohom namt. .

' j . P Pertoxide . choiee
Diht-frrogen Peﬂf‘ﬁémdé. - Dmﬁmﬁé‘h 3

|

|

|

i
%@omﬁs ¢ Shovld omit &, «
j Question [S)8  Titanium (I¥) nibate .
|
|
|
|
!
!
|
|
|
|
f
|
:
?
|

T .‘f"' -
T ihemium e 1L bk we hawe =w . 43 comes Erom (z\f)

Nitrate § N0z

= 8¢, WE Cembine He twe  ton® i |
y ! - i -

T NoT o T NoT o TR o (o),

Cheice[d]

) Rnowning thal the fotel dharge of compound=zso

Chopler 38 Stoichiomerryé

Queshion 6] & Assume we decompas benzene ((oHy) anto ifs conshtuents according 1o
© the .ﬁoliom'nﬁ eauskion  CoHy ———> 6C + 6H-

@/%/'\/
] i Z
52‘0?1 7‘? ok @r wess CeHg =

7 (fj)xé + 603 ‘

moss CoHg ——s mdk Ce Hi ——— mol C ’
Lt Cote y 6 wma C_.“ (;'1"‘&05 mo.
F20gCcHe | moCarhy 7

SQ-O%/C’SHE %

= 4.00 molsC ~wsent. Chaice @

Question &] ¢ Sample weight = 0408 3 when i ¢s burned it produced 6-53g (05 .

€Oy s C 41O
0-333 x5

Mass 0y

-%-mo!CG;;______,_gmgjc_, > Mass €

s womlyh S ]
0799888058t oy o jlocatd
O W T TS I

Rl R Yk R T

ST T R




iletarled Answers For The ( (3 Yo Exem) (Of (Cl‘l@l’ﬂiS’i’Z’y 1] )
Date of Exam: 4/ W /2008, Page3 .

CortinuoHon o questio mizl e

€0; W 2.06 C
0533 COa x _lmot €03 y i€, 1293 - o W’ﬁ c.

T a4 QS o7 /lmcf {-62 j,j}'lﬁl“zé‘

MGSS Pé‘rcel"l;‘ o[— £ ahom = mMoss o£ ¥ proéuced . fOO?o
mass & compound [ samplt
that covaem Foelument

= 03 00t =367  Choice[d)
540

Quesion [8) 8 Alcording Fo the balanced equakion
CHy + 207 —> CO +2H20
0660 17 melecule.
mdh

".‘}mi—égjg mole CHy s rrole 00 ———— molecules Hy O

O o 600 MOI CﬁZf X

Chaice )

Queston 818 Sample mass= 1.520 9 -

s

N O é mass o N
2-663

Now . T order Fo wrike the empirica formula.,
wot Showld calenlale no- o males & Nand 0.

]

f.
30.mpk’. - mafs o OXMzem

B 1.5 10N (.06 = O.qég N

moies N& 0469 N XM—— - 0-033mol N,
fog N

moled O¢ 10640 x _mol O 45466 mel O
6.0 O

O

No-ogs 6066 =3 Divide en 0 033

= N Oz Choeice [d]

Queskion iel8 We have Fo bolane the eauchion Fo shet the calewlation Process

2H2S + 807 3 35 4+ 2HC
BSo3 pisy 7

Shrategye We have to speciﬁcfj the h‘mi#nﬁ reactant sthen
ft
MOSS — 2 1olls —— ¥acles OCS — NGSS & 5
Dl A ey |

06799888058 skl g,y il

B PP R T T A T SO N M R P Ve T

9 mol HO ,_601X10" moleak H20 _ 5 9y x5
| mal CHg | met 70 moleage H20

AT P |
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Detziled Ansviers For The ¢ 1 Hour Exam )y Of (€ hemistry 10D
Date of Exam: 19/ H /2005, Page 4.

[

Cortinuation ol auestion (16}8

3:S09 HpS X Imol_HaS — 0249 modl HaS .
: 34-09 4 HrS

235g 0y X imol 502 = 6-109 mol 90;.
64 .01 SOy

T he balanced Chomical Ecgufaf-s'an 2y & thet each .2 wal He S _%.; Imdl S0

Bub we hawe actually taour reackion 0240 mel HyS ——3 X

= 2% = 0:240 = X = 0-125 md 502

Bub we have o129 S0, 5 Fhis meens thet o.1ag mol — 0125 mols 0. ﬁg

wil) be n exeessy SO  the lirsiting reactant és HaS l

Nouwys )
mass N —————a mdies Ho S e 5 males S ——s mMAass O -
2 mal =S 320735 -12045

$

|

' |

Aol HIS Lok cmﬁ@[

5

0249 ok FH5S % =2

Chapler 4 Chemical Reackions and Sél wkion S%oichzbmérj 3

Queshon (1) &
moé&w‘}rq = moles d salube _ (mass/ malay mass) (0 g—oq/zo gl )
" Likers of solukion Irkers oF Soludion LOXIOES10 3 n
' =095 molll. = 025 M HF choice Ebj
E\’G‘ffﬁi 10O wl = 1) i
Queshion 12)¢6 A Ccordfhg #o the fawel comseruakion of matter 5 50 ne- o mdles AT L

certoln sdukion keepsconstant eventhough the udlume o solution ¢s changed.
S04 Nag- of nokes before dilubion = Neovof males olter dilubion
MOLARITY X Vorume, = Morarmy, % Vorune »
Mi= 1304 U =77
My= 000K Uy = (0oL
A(cara@ing to #he faw

Wy Ur = g Uy = 136X =0-200 Xio 6L,
_503 =~ . ,zoe:)v{bCL__O ML on [ mal C!‘?oiu,éflaﬂ

g 30 =3 ),_‘r;\ Ay %_M,\,!
0’7998886:5 B gy s

B A e e C -}}‘ et ol _
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t Detaifed Anszwers For The (‘7"; Haur Evam? ‘Q}f‘(ChGI‘J_'.‘LiS'[I"" 10 1)

‘ Duate of Exam: 14/ 11/ 2005 Pages .

Queshion [13] & The balanced equohion (s
MClz + 2AgNC; > M (NG, + QASC[
0-6004 e ;-fz’ﬁsg
6¥m%-e338 Mass AgCi — > male Agl ——s mole MCly.

e males MCh = mass MClh

motar mass Wl

molar- mass Of MC& = MK+ QCCL) = M+ 3

Now: .
;.2%53 /‘\3 T2 1}:‘?(?%3} % y Fwel MCh = 4.48] X{G’Smdf Wels
S AP T mel-PEG
; i ‘
moloyv mass & MCh = mole WChH ¥ mass M,
= W4 3 «:‘t/é-é’%fX(Ssx 06600 = M+IF = (338

= M= 133.9- H.0 =629 gmoi” choice €

Qrueshion THIE e Stemplicily :
KHP 40e0H ——s H20 + Mak(P
T his means relol KHP(aod) reacks widh hol NaSH.
No- o moles of KHP =(mass / mafar mass)
= molts KH P = 6.51% 35 /ng:f 3,.%;"? = 2.59 X! (o mai KHP

moles k’HP—m—-—;mQI NaOH 5 fhen we coleuloke the mo{q"’% :

AL -3
259 (8 ot iKHP yx LN ) Sqx 17 el NaGH.
" lmel KNP

. L .
Neow Y (0 msl
i MGEO\' fi"ij = md‘{’S@‘c NG‘OH o QS-q o = 3 Oﬂoq

Uotume o Selubion (L) 3£ TSRS L
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i
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i
|
|
l
!

NO3 —s NO;
0 balance cach abom exceph lor ) N
NOz~ — & . NO

wmshend of each O o Hhe side which has
lower ho- ok Oxjﬁen o.f?amg.

NOs 5 NOy + Hs0

3 balance the hydrogen by adding H* 1on
wnshead of each H * side which hos
niower no- & N ddoms .

NOs ¢ 2HY —— NOy + Hi0
1) Add No.d- eletrony +he gide whichcs
. more positive Fo equalize the Jess
posihue side
NOz +2H s &8 — NGz + 830

5) Cancel Hu eleckrons un eodh
half reachon » even though we
need to muil.—ipitj Lor 2 haljes
by o fochor -

B T T T S T S T T e e 2 e S T e ey T R

2} balance the oxygen by aaf‘éinj MO melewtel

Queshon 18] & Balance the Following rea chion in addic medium 8
NOs + T ———= I0: + NO,

I ———T10s

] 5 J0%

T +3H0 —— I0s

174 3H20 —> TO0s +6HT1L 6¢
)

6 W05 4 1DHY 68— 6 N0z + 680

ENOz + T

coelbicient oF 0 .3
co eFbicionk o Woy T 6

,ﬂ}OEGFt'ﬁg Lhedues halues .
£NOT & KT 4+I 30 — § NOo
4 6HT

T 4 3thG ——s I03 +6HT4 60

-

4 6H0- TO5 + 6H*
s ¢ NOy +3H0 + IO3

. Choice [2]

_

i — : . 1 e e

E P PP 2 The End 5/: Exoumy e ~i s P

- P ~ 5 L]

4 R Ay . 58 RV
} 152 Foop Ltick e

0799888058
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General Cheme 101 [
First Exar '

Date: 3/4/2005
Time: 60 min.

Name: ¢ e e L e Recf No. e
Instructor Name: ....ococ..... ; J»-B.f... h,-—J ..... Seat No.: é? .........
OfﬁO\,O@uuﬁ‘O@@fj GHOCOOTOTIRO AF*COQC\J@A

N = 6.022x10% H=100 ,N=14.0 ,0= 160 , C=12.0,Fe=155.85
Mn = 54.94 (] = 35. 45 Ag=107.9,Ca=40.03

BARECLOLLY @E’E’;‘«QQF OOQQO@ ZERBOOLHLOE

2oesNe B\ swER SHEET

a b ¢ 4 F C9 a b ¢ (@ 4
a b (& 4 e Pl a (B ¢ d e

@tbcdeﬁm.@/bcde

a b ¢ @, e Ch ?‘ b c d e




' General Chem. 101 \6
First Exam

Time: 60 min. Date: 14/11/2009
Student’s Name: ....... :v‘ T . Reg. NO. ..tiiveiremrna, -

PN o &y 5260 _ )
Section No. ...2=4 . ... b ¢ SEWARYIpLY Seat No. ..5.1.....

###########################################@ PRREEPCERRPRRPRER@E@@
Use the following information: Atomic mass {amu): H = 1.00; C = 12.0;0=16.0; S=32.0; Al =
27.0; N = 14.0; Na = 23.0; Avogadro’s no. = 6.022x 10%%; °C = (°F - 32) x (5/9).

CRPRPEEPPAPRAEPPREREEE Q@ @ @ @@ @HHHHHHIHHHHIHHHHHHHHEH R
ANSWER SHEET

1.abcd(y~\2g)abcg/e
2.abc¥/e 10.abg/de
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C\_ 37

o -
2,4 ,96€ 3

24645
HE
2z 5 Ub
-~y X
3 26086 + U
. (oo-gle 3
( 00 s

2546 =
= ¥ . 3696
Y
+ 24,463 B
— .34 a9
P!

ch\?, =
wCh |
2 //)zg.CC\l ‘p'l_
25v / 2 N .
5% 6£6. ’3E
¥
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1-Perform the following calculation and give the answer rounded to the correct number of

o : .12 = 50
G o S|gn|;(|)can13flgur'ei. 337/2396 = 1L
\u\\ (3.28 + 2.8395) (1.00 + 4.50) / 23.95
/
Zg,g,ﬁ a- 14054  b-2 c- 14 d- 1.420 [ed1.41 "
2 W s
= H\Q?x qi:o —i-gz—
2- Convert (-10) °C to Fahrenheit scale of temperature. 5c2
F*g?_n.i
a- 50 b- 23.3 c-12.2 (3 14 e- 323
2475

et R R

3- The atomic mass of *°Cl and *’C| are 34.968 amu and 36.956 amu, respectively. Calculate the
hatural abundance of *’Cl. Given that the average atomic mass of Cl is 35.46 amu.

@ 9861% , (HEBI2ATE% - 139% d- 75.25% e- 51.65%
2> T v
. ? aoby x T
& wﬂ— ,9“’*“3'“}( 0?5 ‘:qgg’ FgC Ciy+ SkFz __;;{?CClez*ﬂ,U;
\ %’» -

4- After balancing the followmg reaction, ouo®
X CCly + SbF; — y CCl:F> + Sb(l;

The ratio ( x / y) is equal to

a-3/2 b-4/2 c-2/2 d-6/2 @3/3
A 2, C\
C\v\x"vbcg %6 ¥ le C\; 5
\ X
K CAN > A
N (Bfoz 5
art u{' Nie kel (@) fziorl'\cx"(.
5-  The correct name for Nl(Br@)z is: (Ni is a transition metal element)
L-keil grorakbe .

@Nickel (IT) bromate b- Nickel (IT) hypobromite c- Nickel (IT) perbromate
d- Nickel (IV) bromite e- Nickel (IT) hypobromite

6-  The correct name for S is ke % Zak L
a- Sulfur monoxnde""’:*w bo Sulfur trioxide c- Sulfur (IV) oxide

d- Sulfur dioxide @Suifur oXide



iy WIS ?l-? (@qég’“@ NC‘Q.SO?
: {s

500996 | 2605

00996 o« Lnole tasle  , Corzegt3
‘O\.C[led—g '16059 frole

l"\._c ie

¥ i)
M5 k10
200, + HO ——>3F7 1
2HN
a5 PN ¢
st U[BO@
e ad £ g,
.50 __}_g_t)_g;x -—:;:‘uo \aole

L
L0 _Og’;(m\wtcﬂqm > Na. =\63 W} @

az.01 \tole Aoy
\’\9.0 X mole 2 :'Zl"
32.055 2
s
el g X

2

\ 63 nole b = —
[ o le
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P09
7-  How many sulfur atoms are contained in 9.96 mg (mlffligmm) of NazS03? Theﬂrinolc:r' rnasss %1: 2
a6 X o \role Mo sop Mee > 6000
NazS03 is 126.05 g/mol. “ ‘“‘3 "i—mf TL605 o M B0 yasle ALLW,_ inole
: 19 20 - 23 20
@4.7& x 10 b-4.76 x 10 ¢-9.51.% 10 JMF6 %0
d- 1.05 x 10 % e- 9.52 x 10 %°
oL AlgeL 4 Q» 0y
2 x 16 149
‘2 x 6
8- The mass percent of oxygen in Al(SQy); is equal to S= 32
- O\ (6
a- 28.1% b- 9.37%7/’\-,;»“’ c-42.7% d-214% (e} 56.1%
F 4
(Lq, - 2 ks 12 % 1!6 '
2.0% (Cj\ ¥4 Yz
9-  The empirical formula for a compound that contains 25,00% C, 8.33% H und 66 67% Ois
1 H: 0
a-CHeO  b-CHO  c- CaHis0s (@ CcH,0, e- CH30 26 3 4
C 250k L » 708 ¢, Hra Sl B
. 208 CH
MQ_&!J— = §.23 o oy ik
O gE.6Fxl_ \t 5 =95 Y, I7 CHy0, H"’l;fé
10- Consider the following bgliJEEici_f_echron How many grams of NOzare required to form -
2] 50 daele o ot t“
4.50 g of NO(g)? Assume that there is excess water present, Y. 50¢ NO. e e
3 NOZ(Q) * H2O{|) Bl 2 HNO3(aq} * No(g)
a-380g  b-690g¢ (2074 d-109g e-265g¢

11-  Determine the limiting reactant (LR) and the mass (in g) of nitrogen that can be produced
from the reaction of 50.0 N2O4 with 45.0g NoH, assuming 100% yield. The molar masses
are as follows: N2O4 = 92.02g/mol, NzH4 = 32.05 g/mol.

N2O4 () + 2 NzHaqy ~ 3 Nz (g % 4 H20
a- LR is N20q4, 105 g N formed LR is N2O4 , 45.7 g N formed
c- LR is NzH4 ,59.0 g N ; formed d- LR is NzHs4 , 13.3 g N2 formed

e- Both reactants are in appropriate s‘roichigmefr’ic ratios and 45.0 g N, formed
Lsle 3 Vs
:ﬁ%g " 50 _Nloq K TeeeaE S S~}
6‘2- 'Ozj ‘, r\,o(d
4= N’?ﬂ\j X____l,:’_"i".{L.x L2 = é\\
e 2
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AHg i Seesh

<t )}
e €, - 4—5
¥ Agtt P A o CF "' i @S
. 8 ey < sd” "_& ;
12- All of the following compounds are soluble in water except ,@2&
e “Z oy H‘ Nol .I\"d}
GNEE b FeNOgT  [DHgL: ) d-CuCl e~ Ba(OH)
e wm“vﬁmlpﬂzo
13- Which of the following conversions involves oxidation ;
w0,
ot 0 H02 - aH0 « . (B.Ti* o TO* 4 2ut.1,
4+ c- BF3 ey BF4 d- Hz(g) — Hzq)
e- SO, ~  CaSOs 2
X
14- The net iofiic equation for the reaction of nitrous acid with lithium hydroxide is
W e wNOC a0 HNoO, & pous ¥ oM
.Xaco ! X ﬂ"-"_—! e i ol m
o~ a-HNOz@g + LiOHaq) —  LiNOz@q + H20) L'ML uzo’p W0
e . W x 3
WY ‘ '+ _ B-Lil0z +Eag
b- HNOzeq) +  LiOH(g) - Li'e +* NOz'@y +H20q)
c- H'(aq) + OH (g) - HOp

d-H'e* NO* (g  +Li'ay) +OH @y —  Li'ag * NOz g+  H20q)

@ HNOzq) + OH(aq) —  NOz@y + H20q)
15-  After balancing the following chemical reaction is in_Basic solution, the correct ratio of
(I"/ Hz0) is EAR |
MnO4 g I8y MnO; it I B ok
g T
a- 6/8 b- 8/10 c- 4/3 d- 4/2 (e33/2

Zex YHE Mol — SO, *1‘410)“'1-——P SHY L ZMDy -—":/—H"al*‘ UH~ O
27y sy W -’c’)—ef)"g' STy 2 €9 -+ é
r Hady (T —> T M0z HH703T,
g - s
whe g B

16- The volume in milliliters (ml) of 0.675 M NaOH required to neutralize 35.0 ml of 0.145 M
H3PO;, is equal t0?

5.37 b- 16.1 c- 22.6 d- 10.7 e- 16.9

JOH o M3 P LTeaa

Z; O‘UA’: MI’LO"{—- —> Mf‘l. 02 ""'LH"L/Q'
i AN, A T

= | -
g BHET L2 MR i BT s 2ZMA0q F\_;(—Hm AL, 629
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Answer each of the following guestions and put "X" on the correct choice on
q
front page.

1. Perform the following calculation and give the answer rounded to the
correct number of significant figures.

(24.562 — 24.062) x 12.40

2) 6.2000 b) 6.20 }{6.2 $6 6200

4 spherical tank has a radivs of 341 cm. Calculate its volume in gallons.
3
1

. 4 2 \
Given: Vphere™ S . one gallon =277 in’, onein = 2.54 ¢m , Tt = 3.142.

a) 2.05%10° B)5.10x16°  ¢)3.66x10"  d) 6.49x10° }{1.2%04

L2

Which of the following changes is a physical change 7

2} Sucrose is converted intc ethanol.

B) Steel wool (Fe) was burned in air to produce iren oxide.
¢) Calcium carbonate gives a gas when added to HCL

&) Hydrogen sulfide is produced from zinc sulfide and HCL
\[\ ' H,Cyq is converted into vapor.

5

J 5

ey

4. The temperature of an object is —22.0 °F. Convert this to K.

7 -

£) 232 b) 238 ¢) 227 %243 &) 280



5. Given the following data for a sample of magnesium:

Isotone Mass {amu) Fractional sbundance
Mg 23.9850 . 0.5841
Shig 24.9858 0.1000
Phig 25.9826 0.3159

Calculate the zverage atomic mass (atorric weight) of magnesium( in amu).

a) 74.72 b) 24.30 é{‘zz;.go d) 24.64 o) 24.44

»
& Choose the correct name of the zeid corresponding to the BrO, oxoanion.

z)} hypobromous acid b} bromous acid ¢) hypobromic acid
y bromic acid ¢) perbromic acid

4. Choose the correct name for CaBr,.
% cobalt dibromice b) dibromo cobalt ¢) cobelt bromide
d) cobalt(l) bromide Xceb&lt(ﬁ) bromide

8. Writc the formula of tetraphosphorous trisulfide

) Po(SO:)  DIPSs  OPS '?5\9433 &) SiPs

¢ Calculate the number of moles of CO, 1 C.400 g COa.
Atomic weights: C=12.0;0=16.0.

rd L
3 6.82x10% 50.09x 107 o) 4.55x 107
d) 5.68x10° ¢) 7.95x 16°

10. Calculate the mass percent of O in calcium phosphite. Cay(POs)z .
(molar masses (g/moly: Ca=40.1; P = 31.0 and O = 16.0, Ca;(PO: ) =
778.3)

2) 34.5 b} 41.3 c) 72.8 4490 e) 56.1



11, Calculate the mass of one HING; molecule.
(Atomic weights : H=1.0;N=14.0and O0=16.0, -

N( Avogadro’s number = 6.02 x 10%)

33?’ 3.82x10% ¢ b) 7.81 x105¢ X 1.40x10% ¢
‘4 1.05x10%¢ &) 1.36x10%¢

1Z. A compound contzining only chlorine and oxvgen is 40.3 % oxygen by
mass. What is the empirical formuls of the compound?
(Atomic weights: C1=3535, O=16.0)

¥ ChO b) CLOs gf’ch@g @ CLO, e) ClO;

13. Consicer the unbalanced reaction:
AL+ Oy = ALO,

Calculate the mass (in g} of AlLO; produced {rom the reaction mixture of

16.2 g Al with excess amount of oxygen.

{(Ifolar masses (g/mol): Al=27.0,0=16.0)

z) 15.3 by 204 g %\4/ 2.42 d) 25.5 &) 30.6

14, Consider the balanced equation:
Calpy + 3 &y — Calyyy + Cly

When 2 mixture of 5.61 g of Ca0 and 4.80 g of C was aliowed to react,
449 g of CaCy were produced. Caleulate the %o yield of CalCa.

{IMolar masses (g/mol): Ca0=56.1, C=12.0; CalC,=064.1)

2) 80.0%  b) 60.1% <) 70.0% %9@.0% e) 39.9%

15. Which of the following compounds is a stroug electrolyie?

( F3NasS0s “} b) CeHinOs(glucose) %‘) CH,CH,OH

d) 5,0 ¢} CH;COCH



16. Which of the foliowing pairs of agueous solutions produces a preci 1tate

when mixed?
2} I\ég(NGﬂ; + HzSOz;

}{I\ig@\?@;)z + NaOH

b} NaOH + BaCl,

g} NaNG; - CuSCy

17. What 1s the oxidation number of P in Cas(POs),

b) +7

‘\;fé”

c) +2 dy +4

‘Pb N32804 + Fe(Clj

g) +5

18. Balance the following redox reaction in acidic solution.

Br + MnO4

~  Br, +Mn**

The ratio of coefficients of Br™ /HO in the balanced equation is:

a) 4/1 b) 16/5

c) 5/4 d) 8/1

}{ 8/5

1%. Calculate the mass of AgCl produced from the reaction of 120.0 mL of
020 M AgNOsand 12¢.0 mL of 0.15 M CaClz solutions. (Atomic weights:

Ag=107.9:Ct=355)
}g) tg b) 40¢g
i

20. The pet fonic equation for the following reaction is:

c) 46¢g d) 29¢

HCN + NaOH = NaLN + H,O

2) HCN(B@ + NaOH {ag) -3 NE&C}J(M) “+ HgC‘(g)

b) Cl\r(aq} -r\Ta (an - NaCN(aq)

C) HCM( aq) T“E& {ag) = N&CN{aq) + E‘lﬁ{aq)
I—?CI\I@@ OH gy & HaOg+CN gy

/e)' Hag +O0H g =+ MOy

e} l4dg

F - .
H C v+ A..}’.( Lol —y A)/.q sCA



Chemistry (101) - e Page No.i( = )

lnt .
Wistshia

n (B
a—— Y
rs

{;éé-ﬁél" 3»‘3-3{}5:5} {40

L4

Here s we trush proceed siep by Bip .

Fhor , we conbine e - You remember the rules oF i

4

T g&%&@‘&”ﬁr’\q H
o

3 r c{
£ Bl norizerecs are ales & sioni Hearnd {'wu g

“ LE&&"EA:; o s dINE NEVEr &iCh §f1 o haurﬁér

L’
Coplan 7eroes  are ,tm% Ecj cmz-gww'
L,
L sresenice o decumal poid
T ruilive zarees ¢ i\,:am”z:.a‘ fn 1he presence ‘

! " ’5‘ 4 . I .
= ; .o : S ek sl Liseures Callaigsl 20,
Zract mo. Lipids the ace af Sl e eUS i leo o;i! 1

o

r
5 * P v b . d g
Whratd Too numbiry e havedo count her of 4

12:4C ¢ as shoym below:

i Ther, we palighs 1he prévions answdr Wl h
: §

~EBAD Y I-ﬁ,'d'o f’/ LW»W}\J—‘W‘J@U’A“ /

IR L ;
{ J) LJ
3 6i§§'pi§ﬁ¢@rﬁ~ & Signifianl ™ roctos dat Bl _;—f'\ 2w Ao L

' Figurs Figurds :

g & r
Vs L oriaures.
N : : s . gni Heank rgures
Finafie | the antwer theuld e reurn ied O et 8 =
[

’ ;cw@c-%( [;: S0 { 2 Bxgme.mF F:g&zms Chioice @

i P e C .ﬂ P o S 5 .
| There 13E\£E§E"fej colalion ; There is no nwed to perform He mathmabicel operution,

be cause we can pick up The answer el condeins 3 sigm%‘mn% F:gul-es.

T -
PR - s . O N - 5 - f['ﬁ“;( — TR S
radie = 3&lom  , Vagee = GET Iy ont galicnz JFF (0 .
1 - a o eI e ?fs ui
o e che ek = &-5% U T o=ari
P e 20 CO.Q.&LJ"K:
Ty lo g dm """‘ fo ke = fz'" { Ty \I RS .LE ..,.,‘J.' < HIC ",:f_"
L ooy Vo JGvunart ThE JSlUDme kae“““}hsz ;e howe Yo s the TmOIUE D Lo
H P o, ,l - 1
o s W o conveYTT 'UL‘."_ TS o %fw\;‘- . bi’:c{\
- e v,8 f
T s = 1 = 1Y s 6 [
¢ B g Loy

mtba pahlpl .":.Ei.miﬂ \
- sl el I 08 LoEll b (1) eliouBIl R 5el gouks: ilély, |
0788820609 . 0799888058 & il gnd

Dretailed Sclutions for /E‘ERST HOUR EXAM > Date of Exam: & /i ¢ Zﬂ‘lﬁr (




Detailed Selutions for

: : < FIRST HOUR EXAM >
chiemistry (101) -

Page No.:( 7

)

Date of Exam: /1 7 200% |f

Continued Guashion (200

WM R R T

Lim
gl 44

.
i3

Co T e
e
—

23S nm

{m

in»n

cotculs

w\-'huhtff-

1)

bed using dhe previous Low:

e .
owimderesite shown in Uk

ks
X Al e,
L e+ > ;

7 ""["?”;'ﬂ” N

= s 1 PR
! 5; e s A } T
b LR T -~ s

> o -t b

e

el cad

b Lu_;{'ng: [ Ci ‘CLS‘L&-C
4

i

; C.€QUIC€ 'G—I
[____________,_,__.......r

i
L

.

-

far

2

chmge ore

T"

¢

¢

Cortame ¥y J3h

SRR TR €

~luz pehlsdd : Bliodl
dis Ml o Bl f& 502l gughn (1) 2luns@ll K8 juotll
@7@88*@609

G799888058 .4 g&il jugya |

jub o afifs, |

R R




Detailed Solutions for (FIRST HOUR EXAT-.’I\ Date of Exam: & /1{- /2007
Chemnistry (101 h — Pfuge Moal F

P P R oy,
Covitirane d et Qotstian it
St W“‘wﬁ"“'—*‘"-\"’

PN -
ol g @
s TeL e $°C o0 C

Bt

S5
ke
Y
"
£)
ka

Thewn:

=

=i
™
1

3
£
O
n
i
~H
LN
Ui

| X
- C‘\
£a)
-
™
o
&
R

pase;

M@WWW

-,

Quurstion (T

(inomu) using ihe

Ve carn calculnde the auumge atomic moss ok praq resiuin 3

Lol [@mm b

y OO OLTYA L P A f TG v 5
£ yerogg atomic miss £ wss of I o Frediow ) f!’r'n@.ss. o ﬁ_m : Frectons])
P i .- [~ ‘;r jl
' " ‘\ s
ek :;& Rt glamand E fope C I‘f‘ éb%i'\;&ﬂ.!”ﬂﬁ{} " setepe (Y j Bloy fz?cmﬁ'..
5 ﬁ"%ﬁg‘i’x{:i;.u,m@
-
! Fﬁn&ﬁ& fr— < rq. e £k
b f G '3 ..- b |1 . N
Falvional -~ . A
g(‘&sf,pii f\"{y “r‘E Leees E..J"'l-} %’-&ijﬁ.\tgw
\ " Bburdance j
i
Then -
N%r&&e Ca‘é‘:;weec_ Has s p . ) 1
i : A -
f Ma 2 (22.9%SC amu n G 84 + (A% YTCCamuy <1002
a; Cioh N R - -,

o - el
-y - o 1 A 3 It&e
AL 12 4 roaid and

%MN\_ - C&J’IJ\&;";‘CQ}W

~~

oty . # ' £
Faumy = BN = fol | 8
B ilg Fos an odd Rermuls er RE

(Bromidte , Br(, |

: . . . ¢ ; ",
C::f:;f:,xc:z,mo%s are tm.rm& by f*aiamq e rook of anien followed by ~(C or —eus

I
T "‘ zu.k E.' ({‘:..

Tt e o Lo " By p il - J1 . .

FRERL ¢ pE i CL}\.C“C%{., e Sulay e cs‘u*iu.} v bocause il omrnoa i
Lo b e

S el er e o f o~ .

e {"."‘i,.'\ f-f.} ¢ ks i 45 CE}E el } . oy a f{_é 5 {0

dsgeanll 2lio Sl M ol 3sk (1) cleo Bl R8 jeoil juyhn : arl@lgy
0788820609 . 0799888058 :d_ phrll ugyn |

il ity Bliadl | “\

—




v

Detailed Solutions for

Chemistry (101)

{ FIRST HOUR {‘XAM>
.

ey At Wit LT R S ST
. LS ekt
Cordimued e+ Qoestion (6) :

e P

! P A
Se, He correch nare fy:

R N
Geghion (3¢

H
— H -~ Z -
Five nome b Ce¢ B, =
it .
Fisk ok atly G ie Fransidi
B
P g ! fomey £
st lcstlonee 1n C.F‘é.}’rﬁﬁf; T (\I‘})
o
e Pope & R e e | SN
Zmeetlee « rpld u&lu.‘?:v.;{. T, e
G z}f”\,i‘;;:h"‘z“} LAWY s Sl
{::\' gs r‘-k‘.
A 4.‘.¢v"",
D)
e

%

s
1

:
.I.Lf

, i
+ - i~
FES R AT

!
Lyt

r
i

S : -
{ i gﬁh:mg:frmm& i sul

i il,l'lp‘* 1

g

P “"‘;;.... s SO [, e -
o L e % S : /
| N Py el P TR o -y /' ¢ L
O T i WAt 6{ PO - 4 H o f {W
oy e ol Lo B vl s S b r,_[ ,9,& #‘i/m»"*-t« w

o kol dement

i
W Erloneang 3

b

tr

romoins acid

I L] -1 j -
Vs s - . . ;( LA 4" &Ae e
CNT NS NG ¢ 035}:*{“');5'.{‘;;»‘ A SR R AWy SRt P

s [t . »
of clome i ok equuvalunl ¢ ux con grag TR Charges
- E“ 5
. ~tte &”f"*u\-s} Wé‘ﬁ*"'ﬁ}’ }
praen s LA, ,[

w . A4 Fennan Naygenl) Ao 2=, (951""‘—&‘ @}“’?ﬂ d}s ub:u Lg

Tf"iﬁi'\gi&% % T

1 -
@ Roman mumave] Spact s

Date of Exam: T/t /200%
Page No.:{ 4

his type (; vpe I i route

Fhe ¢ hree ok the

E\( W o0 S s 0s pe dgs ‘L’w

e e

ol dé ; choice &} J \\

e N AN

k"‘mn‘___“ MMMWM

/

13
@t

<

B 31 - 0= -1 ¢ NI R **~-~e~a—-’«"‘

. Py : Wi L[5 (£ ™ oz O
s oF COn = Crto g Glyg : Alomic k”c;a*d C o= 12wy [6.0 =i ¢
3 . .
b # -
f’ﬁci,jif,&;, ol C.C,_ = ,'_f?
4 - oyl -
ST f& [ !
: ; B e s Y er SO W S o S P
Here bl (O3 = A+ alit)] F Go 0 Gy = opnoler imess s 990 3 LA
ted
-—-«;‘1 ~
TR e e s i e s . .
Copreles = BRaEs / o FAGES | eee  EeH OFagC T (Boube ob Ercellerice i
P

| Zenandl

CHEMILTRY Cié:}

(788820609

miben pugalyf ¢ mladl

daginsll clio Bl K& il gbs (1) 2l 3

3795688058

\

|

e

3 ot gush - Aildg,

- SNT.L vl | RPTTONE

| e Sy e T

S XA ek




Detailed Solutions for (FIRST HOUR EXAM > Prate of Exam: &

Chemistry (187) S ] Pige No.s( %)

£

motes Dy = 9‘4’0@5'(*02 e 0 CO0GCTCY s G0 X6 mmole TO% .
f Chaice (@}
b /

e
-

i o~
o LR
04009667 x 1 M2 CCE | w q.02 X1 mol (0

T 40 g LT
< = .
(AT (L “f_,f;’;.@ P W C};ﬂf& S | @M‘yw;/
\‘1_.,, Mt e 5oleihy .fu,«.;,mw! &,.Jg_;,&g’“@w& /
D
[ e SN W

C‘QEQPGS};

F

; Yoo = ncoob Cxygin akums x moler mass o b

{_ mcier wags ob Cog (F%%)

ol HH 4
QC‘,L&E& c;l: CACEitmice b

. S S @&miéilrbf {)
"} ok 50 e . Paer QO
Thin [ &kt , Page GG,
e/ I o =¥ e R - " P
. - i‘g3x(c@“ = 34,49514911 Y,
LHE S G -
- ey ]
=R LA /{_;Q@;C@; @!
it s !
" . o
Gcstion it
5 £ Fore $
the mess ok ane MGy mek cule 15 77 Cal E
P ’ " ool -EE, f ,*m'!,—! {JQ: - Id i % é‘L_ f)'-'_j'i" Loy Ced i‘ 3 {Q\} |
e nove o byt THC \Af«\,i}hr swi‘f} l&g;r{)‘j s Thugs 04 v Convg b o G ). ‘
-3 Lo P e
Formuls wughb sk WGy = ((H} 4 1+ 2007
- e L0 i - {'.
T iy Hiee) 2 3] = £80 amm!lm{acu@é

|
| depall LB A8 STl sk (1) £liosSlE [ S0l gy - aildlhe J
\ 0788820609 . 0799888038 ikl wgad




Detailed Solutions for = FIRST HOUR EXAMX» Date of Exam: & /
chewmistry (101) S Page No.:( ¢ )

Sre o Sadstion e

v [50] Rowke o Excellence
b CHEMETRY &
Bre 9C 15 cdibion.

T g,
i
&

I
e [O9EIESQ vio 3 brsteenle

[egxe "5 cheice [d)
Frgtiusr solutier: e
rclar 14088 ek MNOp = (CHie 10+ 200)
() 3(e) = €30 glinel.

ey

L

£t N
oS LG 5[:%’&&&&-

f o g CE 7
£ 0w KT moleiil

- " L. ,,.2
{ sife=Rlits CEvimpg O
. 1Y
e ST

.
— -

~ .
(i Rt

7 b ,sf-zs';l'.ri cal berriia g w

P S

PSS it fo ITGLEES »
3 i - ;!
altaued L lcwladed number of meles o than wea look
g

VG

i) oo +
srall Wiel Auslory | ar diicle

. ¥
o : e ﬁs- (e J"‘“" TUMIESY S L

: - - =, " ! - ¢ :. [ s i
Tl AL 53,;: KL ¥ c:;f’-.a:; ab 'S;-_rff:@_.s’l

RRTAR I A
B PP
"t : 3

drgin il el 2l 5\5}.:0..]3 Eayko (1) "[.LO.LSJIMMIQJ}J:
0788820609 . 0759888058 .2 &y Jugj:u..j




Detailed Solutions for ~ FIRSTHOUR EX. —U‘s’f> Date of Exam: ¢ / (/2007 |

..

Chemistry (101) -

Page No..{ 7 )

Cortinue of Gueshon (2
,——-———M

|

£ ol .
[ oWe have enb Twe davents 1 CL and O
v
o0 . 'y ) . . ‘ ]
WL avaitable dedy s = A O= ¢c.2°f M Yl s lonY - RO

A I~ 0 Sy

.

PR ” !
[Nowt 5wt assume thet we bowe ECJG&-@ AT Comprg 1 herafore

'\;. I ‘;v’.j; 3 Ly g ; o o .
LA f’i&{f} gt (:{! o 4«-«6,?: :"} AR LGS f}% CE = {:“Cf'? S )

= 281875 mel O

16-0 9 Dl
; L ol t""cgt‘:"s"-cl o ﬁgﬁ‘[&{[ z‘ffi
s o Wb - LA = o 60“« L a7 SR
508 g (mel

aprretes . ’ - ’ . L r-_ F
CoE TRy pe C_t_;m@% o LRiEGO L . this ifads o0

C 9’ I
Chies © ragms. = e Crso
teg § Fog s ;m’i .i- i ; ¥ "\fﬂ[;Q ¢£ U ( b‘! :2,:
S WE Mkl o Sibvariny fPH {3&["; fﬁ:{ Ei",u! ‘p 8 3-’»‘5@ 3 [,», N b O rRUg ._,r‘
o P % o) £
‘-.—f{.ﬁ:‘t, L‘: 23 y‘.;i s C_“t‘f‘c}q \JE,‘CO w‘,ﬁ
P e g
Sveghion (i3)0

— e I ¥ [
{ i"‘:g’s‘z ﬁfh CLJ: . WE [’LGJN’“, VO E@HCC‘ ”‘-’5. Ww,w;qﬁ ]

N oy ! i e 2 . 4 oy 4 fas .J, T
G Thenms we uge e follosng ciog ram +o cblmin the mass ob produck
| i . r m-wm-w--—"*
g e T ST T A S— , E ‘
| 1 3 wley ‘{ i { I i -ﬁ‘(GEZ i fww ; i o
ees ob Al BEERT L pels ob AL B 5 hneles oF Rl 2 pussel By
s Wt T s d Lrrenbgn ! " roae | s
i R AN (- _ | i 4 N L5
L A 5

.

R, O T N . T .

Pl s TOR DRENLCE Loyt (&
&

-

T,

e x"'ﬂ m"’"ﬁ-\ i e,

.

AE”'—T‘_:—NM'TM%

:fbw-'éf"-’[ ‘»«u«m ¢ r(.f Qj_iw

i

rler mass ek RBleGr = LGN+ 300 ‘Wﬂ,\ Fv (\{é‘ (_..,cf oty Wﬁ
O
© (HNG L g o gind) e e’
v AG e gmel
—~len paplyd - Ll \
dagts Al clio Il (8 juotll gush (1) chiouSll §& juoill 5ok - ildlE, }
0788820609 . 0799888058 i el jugymd




*

Betailed Solutions for

Chemistry (101)

St i i e i

/ FIRST HOUR EXAI\B
\_ —

Date of Exam:
Trage No.:( & )

37412009 |

PO [
NBiE o SO

! ot i N T ] e-{ L - b et a ) N
pC Wiy g e denginaker o e imde ralic it

as Shown el
. \ - Pro /
< s e AlCr /
3 i . [’f
“ WS & ;‘}ci

%

4

Rlate nen | I ! o _ TN
VO W oy gy "E":H’T.‘T.ﬁ;-zll caleodobian &oﬁxﬂﬁé ‘
; AT
RO s g,ﬂ""““"“e »{"‘& (¢l g Mils
S S e Tppiare 0L —
r S ,1 A s o Zom
ek gt Mo e 7 . e
& 270 g BT & pask PIC I
ol PRttt i
¢ ! : H 7 £
o PSS e le :”cz 4o uler moss

B Uie rlople . e 5! fa b ‘.f‘ g . y:
bWe Gl wdsethor e Cquarat is bawned or nok L rob wt baleyee o .
AL fe Pt o o B
~ W gt The v Wbl i b
-, 1 B ' f
LT B 5 e ILAZ Znoesiy 7 - Ef.- . i i, py| il fa
- S tha POLCEAG LienS Shown i THL O
T e Al b 436" = . o ,‘1!
: L .
H Fa 3 g i i
I fem e 4 E £ 5 : ‘. t i g
PR G e len mh s mle { / feo
; : T e b . Lrcls of | finess ol Hhy
;iif‘ltih Femm Tl b TGS R ] {
: i oo [T T I PR i i
frise s P i1 e €SN - SO R PR ¢
Epy w : g L N : ! R N L i
m\ﬁ(.iviaé-! DDA e e B : vy i HWLES ; i
: PO T ST e AT : i i ; ;
L TNV | : i H 5 R H i f'wi ol gy il |
A s g T —. e, " i, £
ol . He o~ oy
a s (T =iy TR NG ey ko WU g
.l 1. ® Ty i . .
- T Q:’@{;gn;{;:,} {;‘:;'{_},ﬁ.i-“i;"."‘z g wuar UL, ..lt' '
;
” t ¢ g r 1 g . f e pria ..J =
T oW nove o alinbae re-ob mcls sk coth copipng
=
<. o =T sl Lo C'ﬁ . i C C _/'v’;‘ o o ,i &
Setlg Lell X = Qo i G LA {7 CTU{Q/: ¢ BPEEGE
Pl . _— bl
SOt e Ll o
3 w
i -t
Lo e . fﬂﬁ - P "“ kY ,f-i.. it Py
R T - PO e — s e f"‘"v.-.‘,'i{ - (; = Otuaiiv o }'\’-_,554’& .
i o “-':M-——-—-—-——'*' A had o H 4

( el \"EL‘:‘:’ &

[ (-. Ty ‘l H - T "
(U slarid & 2y i ol ¢

R~ EMA iy i
Corddn EA{EF Crucebion G3):
WWWMJ
! - froL . bt o .
berause (wand bo convert moles Al e meles of A0z, indles ol A <F’couj

‘eifivedd - _—y,
COFIVEG et The

Y o

) @4«5_@-% ey
o . =
Gttt V¥ Ea by Vg

ek &;_z,.féﬁ i,//
'\wﬂ(/.

; Chetece @;) :}
: i

T

(788826609

—tbsm gl il

digirll 2liouSll 78 il gob  (]) 2liouBll RE feoill 3k » ildth,

0799888{}58 s 352 :




Betailed Solutions for

Chemist ly (1%1} o Page ’\‘0»:{ 4 )

.

C_f“n%,ﬁé{;{:r Gi’v_’%i v

] o poacd T L bt so Ot ff’.
Pow 5w callde row mary molos are needded o et o ith echiol carn oS

260 mal O s neded to owneact widh o0l mel

[N

!
O

i - EL i b . A
- ;‘:1[- C&Q; Cf’d‘ j'LC;!:‘ é‘-.grg(_ﬁ!- + f’l:'b‘!”‘ wé have Y 5. lr’c;;l
i £ 27 m o
s o Pemain @l &els
C oy B2 O MOIC W WL G XS
Feachanb. Congeo pontly, The efc'rzfu'nf-fhg ~eckand is
J ¥ oF

CaO .

1 . . [ S N
them . we Car CC«.%JJ‘w,n_ the MEss c,-? ~ U‘%H’m; i@. J»-:-!L’Mrfzj a?i.?egraw*z;
W [
S
e T - L ' ! rass o
P RWGSS R pealar Frsles e mlq }msa;g el e [frass o
.k s S - | e , . !
e e ; . RN, A
_ S IIPE TIPS A
E‘?QC&;’ZE;& o i‘!:“\fb Crr i:w@.ﬁ!i’ﬁi e ;;’L‘,\fé C" CQC) Lffr_ LT i SF '-«E.'E'I“L-'J"T[Ll A
P : f Al Lt o
O I TN T G Q= % f".ll.{n, S (=% ( . ~
o it pelGaTy BT, S0t GG gy g GG
sl et e ,/I‘»éxmw%f:m&)
L e ss
\ y
i r"“ g o 1
EE Y NP : _!_ ¥
P o £ N Lot = a e & i - . .
Ef\.. g ‘L—{Ll — ix {A(fj WLC&-.;«EL . {ch '}i ‘i - 1::: 5 f & RO:;E}'& Cflr" Eﬁ’;ﬁf{{"au“
Vb . . ¥ 1 - .
theoréticgt mass ; i CREIMIST Y (1)
i 3
_ Fege 21, agiiies
T ARVAl 1 S Ld - £ o o i
Ao Yield = e g R oA 0O /,m t Chﬁi@’_ (.C}E
£ .E:é‘ | o L—.— j
T
-~ t - ¢ f -, i ‘e ey
J‘_:_,-j"&vi C'J'Lj"'s ér«?“"'.&—‘ ".3-; t:-b";"ii w.,w: _LL‘ et _jg r (9 QNL ,\,\, _&_f‘ N,»*_.f-’,,.{_,l C‘M ¢ c“'L'iL_J (5 :,f. /
m 4 s o (- -
» P LS wen im0y —-t e ] s
r + \..,.:‘:.(a.lf\ “ﬁev:;..,} [ \cf: - \ki ‘..f!s‘ {K\) éL@f"h‘} é,f"‘p\ _},\y i \’Q” 4{: CWIG-[:’""‘. C—nr,"_j,xl_gf\,{,#‘\_& ;r"’

s — I

by mpls] Bl
ugatll 2liosSl §8 30ill gusb (1) hiosill ] juoilt gusho - aildlhy
0788820609 . U799888058 . 4____sg8ill yugya !




|

4

Betailed Solations for (FIRST HOUR EXAM\ Date of Exam: 2 /1 /200% |
Chemistry (101) -~ Page No.i{ o | ;

J 3

« B«
Grueghier {{€) -
g P % Pﬁﬁ’l gég

[ ¢ . ” FEY
‘ _ fub by Fules poeesented (n teble &)
TE-.#Q ‘!C}{%: erd s E—o 905:}3‘{!@' !L}"\f.- SC‘{J'EHL a:-j CAS 4 o

. . : -y g . P c;;‘f"' T
n rouke of excellence i Cfiér’m&;{‘i’j )y WL Can e e B0

e rmest nibodes, sulfalks and QC‘:‘T’“’“‘; it soluoy ; t LT T and Mo~ |
Lk oxcemt b flow combing wite Aot PET, g and He o
e mosk halidis are sohble rep | g angine anih 13 - ‘g J |

- ek salis b Grreup elements are é‘:-f}[[,g,z;..f-.‘;’:-

: : ~ Mo S5 et B . No reoelinf
@) Mg NOg cogy + M2 904 @y —> N§EH (o +HNOz oy

s ) H
Y] CC% 13-2 <ag) F‘JC!%C‘EF‘C?F‘I

{ ‘*>
[
g
£
|
!
o
o
{
I
=
o
iy

() WNaOHe 4 Ba

N S——

Y PR ) s L -
(© INaxSOytayt 4 JFelly (uoj —n (Na QO gy ¢ FefS0 s gy Ne readkin

' (eg} ~—— f\f;g (il -j‘f s) Jﬁ. 7 Nag f\f‘:i; ag) Rezchan

ORI LY A\ Clrs
F; i"\ ‘.’w .;\_"’{; e R -

g N v {Cm;f o L‘uux :} (J &ic:‘? e ;“5@9 5 r’i& &w -‘L CU C \j&‘:r% C@”} L:EC; 5\2&37‘5;-?

:13‘-_’;‘\;{@\,{ i;ﬁf LI P . ; . p . .
Remerber the miring ok soluble compounds thed clots net produce solid or liguid er
(3

oY G, ey Gt e ¢ !
R s net cemsiotred os chuniced raaekion.

T

. o 0 : = .
Quesben (%) ¢
Mu"“k;n‘aw

Theve gre a st el axicos oy Frnbrer rules W FR e Iy route ok axcel tenc& iry

e “Fe e orgm e s 3 {-g
Clheyaid Sl U &,.z; ¢ 4 ﬁém—écﬁq ,gz-&'ﬁéﬁ IS =S¥ (.gim":ﬁsf,-' ‘:ﬂﬁi ke} E"le't— i die
. i i ! 3 8 ] f 3% s g, f
The damrge oy cyupound ho - oF akome charge v e ok cloms Crarge &
2 :Copnpounel
- + ! ugn
- ~ -{' Ie - ~ [ :{
G Gt ihin & t"éé[m;w& SEL eharand or 2“ {,ﬁﬁ?“f“tl* LIE ¢ L e l
. ik
) N Y 3 f '
e calne as G?ﬁﬁ@tﬁ-é G THARLERLIS « :
% " b o~ Iy 3 N e Lol A Tag TR b hale 'u{:
Zoe Gy 08 wmodund s (ux QJJQ L ano ey o AEREM ovnidesion Srodé ot
tes Y 2 o
=
S L S i Am PYER 4 AP 4 gRl-
O = S5 8a 4+ a¥P + a2l = U ™ - . N
. ~ S T :, i P N 2 ‘jp o "E" ff S {v-ﬁ x-{mg E—?‘fiiﬁq E
= O om A Ly ..,P@ = O = & = L = o= T SO

il padlygd : Bl
gl clo Bl 750l sk (1) clios@ll 18 5003l guykn : aildlg,
(788820609 . 0799888058 .4 gdill yugys |




-

; Al
i - .
i Detailed Soluticns for ( FIRST HOUR EXAM > Date of Exam: &/ ’“/20(}? l

: J— A . . ; .
chemistry (1G1) Page No..( 1 )
L P A R D, NS
i et . ;
Gaf‘iéé S (L ?g: !E
MRS _ P E
. p— [ . o~ . . s + L] E
b 4 Doy o3 %r! = B ;
"E‘.»"“‘i”"”f el R+ L
[
I L i N ! 1,‘“ " £ 1 { . pa= - ]
i f’ifﬁ"i%u e G GeEe TR TO \".L'J“Eé‘i SOYT .
7 = PG P
- - & Vi s
Ry im U > Sk—x =+ Nin

¥ .
1 L - . .&..-ﬁ
L T -l A
w{;-é_-.. hy
I t

Lo 1 ' ] o oo,
” L émﬂ.f«mwg. Lov cnidabon are reduchion ba F - reachions

=
e Vi e 0 w‘r#
[ iz e L - P [N
w‘\‘gh.f\.é-r T PG - Pt
L+
e ! "\}’
X L o~ f‘\ésl
! i o R A et o\ ULE
o g v fatb s peiriis = =
- ""(\ - "5’{6 }av.- il
T Uor &AL g lim - [\QLT?J¥?‘
e T AN
G L R CL ol Q:;}nnr £y r ¥ r !‘L .l“{ A
- ot
e voRRe e
"1 r‘“)‘ . o b &,
s b
(A T
“ G boa
P Rl ., o
i, R
1. {(¥FNar oy meeedes Fo side which fus e
S We BT L O RGg LY g ::n; ;u.:.a.r o S medldwids T s
el .
i
- i -~ ;
o O SR T u ML SN
o
b t‘r —— E’E’Z
- <+ N A
i O e M e L
R i |-
i . A LoVl
~r RLE 0} Loy dhangm : [ . ;““\‘/‘(L PP = i TR %“C -flyu".&lé‘f- “;“‘sg “:"i" hal &
L W LSS e A PRETN k\)(""‘i £v.. A ‘,S\C,‘; £ 1 H
L ~ £ L
2, A L H i ! K
G- oo nclroatn aber §
« ¢ w3 !
v L7 S
[~% !lb{ B A . T 8 A
o
" b v-;'“ f\ u;(“ uf‘%’u(r
S Wil I et
Ep . -8 | Pl ] A L :’[,.;; ot L..i }""{Q P e
o Hatorig wd dhaves by godhne swilalle o oF ecrie e Rale reaomans
o - J
E i E S &;e:/': e &
ol TN L T Ni T
R S R N R % thi -fnL]rI?{,.__j
ry
‘-.-"[:‘:‘ Pigp !J—Ei : :!.u.uﬁ[

o Aemall Ao Bl 88 il gk (1) cleouSll § ieoill gok - aslilhs
(788820609 . 0799888058 i gl yugys !




.= N

“’L e Y 1 mn N oy 3 ~ -L".»"‘— L=
e, [\ﬁ{jf{%‘;?%\i oY Ay I::&;:'f’;*:‘ 515%,;5*'- IN{UL_'“G ssrw}”w}u ri'ﬁao‘idf ﬁnui ar I"? E.Sﬁ/g (e 9‘35«‘;0%:.&

e nee of elechens Pranshorred fo The Tuw Matbe reachions .

- N
S { 2B —— Bry, + 2e )
an ( 24 SR MGy — M £ 4 H‘LO)

——
GRr ™ s SBre + o€
';_}:M r. 15;»—:‘?_{_ ‘:‘éfﬂg}c‘_{ J— lt\tﬁ e ?hﬁ,o
-

WG Br + (6 > Z\’U’t(‘;_‘ —_— S%Y2¢ é%\’%l’ -~ %HaO

¢ Chack Bt all "E’Cmi and chavges are bolencad.

1Y f
EC) %r ic}, Ey" \m

%

f
Jugl LM
S Fﬁf 6 il' ..
3 U : C,J.‘J,n,s«r 5 Cw L.r-’w‘ v)},k«zl“-
s 5 4 i ?? \ .
‘\L‘*%L,H Qim) “+ (‘Zﬁ—nt) - @,{2)%-\ @ Bo s g; .x;)u Fion

ke gmjtcici;w)\ﬁ.f“‘aj‘

F: s _i‘,‘ P [r*-s", .
uestion (1

H

SRS s 1 ¢ o, L.
SE must Wrnt o balawced equution | as showen belaw:
Est
B
L ’Wf}[ NG 3 (aey L C’:L!g Cagy -M——--VZPW &) () Ca ﬁ[\}\‘;;)
Tlage g Wl ga 4 VOwgle the &%x\"’v"it&% dwr{a’«‘:
g\’{.@xﬁir’t"u c}:}w? \sz!u\,c —— Vg ‘Qq C"E f.‘iq \‘C?

Co:c)

AT s

b Fe RGO PRAL
: A Y i3 (_gmg-!?l'i& ot [T GL:* — FTRRES

- ; Pt - Errbe vk e o
Wity asd Uslame ——s peles ok Call, 7 n e ha Cl Ry Ct
-~

ef: ol %

( —lin padlyf : Bl
o gl cbo Sl §E 5u0ill gk () gliouBll R uoill gayk | aildli,
\

(0788820609 . 0799888058 td g8l jugya |

- Il Detailed Solutions for <_  FIRST HOUR EXM\B Date of Exam: 2 / 1y /2(}(}:;
Chemistry {101) ~— e Page Nos( 12, ) E
Contive + Quaghian (1) — |

1 R :

i/“‘*"\ .
(€ £ i / ol = J*‘}& Cyu__} \

Q"'—'EJF’ & 45 Mtfﬂ\/%

; : g = |
B B = 44 |
1 ;fkﬂm.n /
, W~ VA f
de & = ks \\, e
' M
4 AN - R v . f R {
Thew  the mlbio coeldident ok Br [H.p te iz = Sig Eﬂclcﬁgj
e s g

o et




Detailed Solutinns for Date of Exam: &/ 1i*/200%
chemistry (101) ™~ - Page Noa !

&

e ! fa £ - . g H
et com coleoole  the ol eteach PNESLTONT ¢ a8 showh el

#

oy L, { ) : ot vl g i \z .
meles = Nelariy (mel{Lha Velume (LY =

- meles ok !-sf& ge o= 1l 2y R 0 30 e . Nal :
2 Wty O i\ ( FC i MT'" Py & ﬂﬂ(/ """f‘“tT:-—- o O \_,E,Zé! ;?eL_‘I /“ g‘\} & N f’},d‘.&,&wf{b{ E
{C;'S’)‘r‘,. PO e — L.
I A o " , g 1
e moln OF (‘:“': A= ii‘.C‘C J?':L}':. _55— . C‘{S‘ }‘“&Cf [ f{xgrf PP!ES‘W?‘
=TT x R ol g ein -
et TU L L oias el G lh
[495Y

: % - 4 L Pt 2 {

{— =  G¢-036 mal o NCy s needed Fo meadk
< mr e o OL R h . we d not
with 0015 mel CaCly . Bub ;s we do rior

——t

e
R [ Ao he Aipag dn 1S
Mot ercugh amounh 7O INOLY . (1enaoie

Ag iz is the limiting reattant .
(e

% T

Her using be. molar mass ot F a.

N ¥ " !.n
f\*\guu Ul Com cad C‘{,Jg:}{ A b T GSS of 2 }3 Zf

H off e n n’/f -
molayr mess ok Al = Mo + L0 =

o i
..?_ L e
;A\! i 1 ;"""s_-'.\\; :
Livesdion (piC) e
- 1 So Alee ped Souet e ore Mawve v Seoarole each camasind
Im erder o owread e mea foniic LoUmmo ; We have, 1o ‘-JPQE {h P

f ST P GG Gl ang ol bnses
€}-CC¥“"“ !""’Ri’ e E & EJJ.&C;E-E ‘-’{Vu(-‘-‘} UGS QIS NG UG e [

g Favimedt (::JJ AT
2 - N ook Toizes Qe It
New, HON I3 consloted as week alc, 5¢ &6 e (0

. ) ) i y Ay 7 - 'E » yE J-j'-!:' ®
MG s aliowtd | therclore ¢ canred b fovizec C"'"“'“Plg""{ff

—ilis p.:.@:f}.s! :z!.u.uﬁ]
. degnadl el S 5\5}@!543}:: (h LJ.Q.LSJIM)_LQ.LHSJ}E EHLIE
(788820609 . (799888058 i il sugyn |

-




A

. Detailed Solutions for <FIRST HGOUR EXAM > Date of Exan: 2/ 4/ 200% |
. Chemistry (101) — e

Page No.:{ ¢ )
AT, A

TR IR ST s FMANEL L R i TN WAt ml'

f g i &
Comrivpug 1 (uestion (20) &
e e o™ e T e Nt

g Wooks e el culor cauaHon {s:

v s e f ;r 5 v 3 H‘ e
HON cagy + 8 cagy + O <oy s D gy « (N cay 4+ F2 Gy

e PRb o e aaiuc.%io:’t l&
P 5 ot CW™ He (O
RN gy + Ok t4g] e SN ooy o+ 2Ly
i { i

1
i —
e PR i 2 Lo wwm_w -
- ~ e L f ™~
- .o o .
L] ok e ._/ - i . L Er : r'"' '\
- L ;, % . © t
‘ 5 ; e ) QL&,/} ol e g | dd Y b ¢ L
" i LS W) = Lt o I3 A |
E\‘ l} at E.ﬁ:“éwi (f: ﬁg 1 'L}) A i Ul.'} C‘ = P - }L E
R -
- 1
) Ll b ! '
.oey - e L“g'“‘f*\( ¢ “E_?.E.-}‘t "":\éjj i// !
% i
- F
g ; ¥
o — “‘T/ .«”:‘ -\_M% W/_‘.«"'.? ‘I_, ‘eﬁg%_ﬂ.——m/{
N AT — i T i
W
S g s fm\\
’ e
: / "
H et S ISy "w\ £ i ‘L’-”K I .
H - T, o . ¥ v s ) i {& F \

r m—ﬁ“w/’/ “‘*n-___m_ﬁ__‘%} N L - ‘s E
B - H o ' PR
PR Y i - N B syt = b t N N i T, ' _— !

o L5 olad e i wa\"’_,»i“mij Flhed ¢ L. o 1 i-‘-b-"’\ ,}.{ et 8 LTS Gkt ;&{“"‘ 5 L.._—rc,:‘/-&” Bk b §
L& - o v :
o \ &
-1 - . “
. ; T e b i MU 8 A Ba fas aiar b e 1 S
LR AP . B _{:wf- § ?,:QJ,: - ;{' b L«_‘&__,a G é‘(&-fa—i iy et i L;Je;_ 5 VI E.Sf\\\l [
SHAMVELENY ool N Y
Pl S t A T P R S T
* J,‘. |
f f i
Jfl
| . S P
. el td, 7o 1 — " :
! - - L &ELe O der Lol o N\ j
! = - P = i .
{ P . I}L&;{, ‘5} L Ga - Lol e, ‘}/ L ¥y
: : L Wt BT St | 6,}5— F ol ls ¥ e L
- t
L S o prat 2 e a X
b ;, - ; _ u‘{;‘d« Al e @Jtr { iz L 5 by @‘J.l N S S I
BT A N 4 e L (S lad O H ¢ - ! - _ + . E
H b o = s - ol 3 "y L {
— - e Vet L s et o [y nl__-“.?.x-ﬁf b;.—,,:-\ Gﬁw&‘&{') t\_;, L(f f‘ %JM_E:H‘ {%i ke I ]
P -t . l
;

sl (azess /
. £
s

‘5 ¢ & £ x .
AR TA sl LB e U i
et R S e L SIS T s .y I .
LI AN = o - a.—_(». p—

E
E
|
l

i pdlyd : alied \
o Ao Al Lo B (il gk (1)l S R ot 3ok - aildle, |
0788820609 . (799888058 . a___gfill jugym |




T T v o Gemeral Chem. 101

e e ol
e ¥ O ) First Exar
/ AT W VS S, o)
/ A GpdE S <) Date: 11/11/2006
Ly e B T Time: 60 min.
\-._...._:.f_m___-_/.
Nt Student Namier ..o Reg. NOo. vvviieninn
B a“‘r’ \/’ .'\ .
T Instruclor's Wame: covvrvieeeeiieiiiniiinnan Seat o .oiviinn

AN NG IAN
NERRTTIA

TEEERCCHLTTTTREPELORTLRLCEITELTEETT
$EEEO0C000B2BB0C000ESEEOEO0OR%

ANSWER SHEET
1 a gl € G a i c d e
2 a B ¢ 4 e 16  a b c 4 e
3 a b ¢ d e i1,  a b gl ad &
4 a b c d & 523 a b c d e
5 a b ¢ 4 = 13. a b ¢ JRONNE
6 2 b ¢ ¢ S i4 a b o a8
7 a b ¢ d 7 15 a b & & e



[

2

-

T 1nPh

A

3
L. Perform the following caleulation and give the answer rounded to
the correct number of significant figures.

(6.56 +5.679) (2.00 + 9.0)/ 17.9
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8) 7.52 | 6)7.523 )75 §75218 )8
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(2.] Calcuiate the vo%ume\(x» mts} of an 0.640 Ib object which has a

density of 1.326 g/em ? Given: 1 ‘b 454 g, 1in=2.54 cm
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3. Which of the foliowing statements defines a compound:

a} A subsiance that can not be separated into simpler substance by
~—+_chemical changes. _

i by A substance co::m(}sed f two or more elements chemically combined.
¢} A homogeneous mixture of two or more substances.

d) A heterogencous mixture of two or more substances.
e} Wone of the abouve

4, There are two nanrallv oc ing isotopes of copper, Co ( mess
62.93 armu ) o.l"?l.i St; B { Mass Gi 93 amu). If the fractional

ebundance of “Cu 15 0.515, then the average atomic mass of Cu (in
am u*ms} i this sample 1s;
by 63.7 cy63.5 d)63.1 [/ e)63.9
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Which of the following combinations of name-formula is mot
correct?

a) Ammonium bicarbonate, NH/HCTO;
o) Nitric acid, HNOs

<) sSodium chiorate, NaClO, +———
Lol 1y Caleium hydride, CaHa

¢) Dichlorine trioxide, ClyUs

h

. . i L
s 1% 2ot Usor g

6. Which of the following is the correct name for the compound:

Coa(PCe)a ol istup T clometrd -
z) Cobalt phosphate, POy 5 adled Phosshoke,
Thighim @ Lalt(Il} phosphate.
ATy AL iy
Ciak ¢y € obai (II} diphosphate.
d) Lebalt{n) phosphite.
e} Tricobalt diphosphate.
7. HBow many sulfur S atoms are there in 25 g of AlyS5? g
(N =6.02 :\H)B molar masses {g/mol) 1 Al=27.0 ;5=
4:" rIQZ?) By & 1(23 % o - 2%
a) 4.2x 10 b) 5.4x 10 ¢} 6.8x10
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8. Calculate the mass percent of N in ammonium phosphate,
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( molar masses(g/moly: N=14.0; H=1.0 ;P =31 0and 0=16.0)
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A sample of 0.960 g of a2 compound cc itaining carbon, oxygen and
hydroger was combusted (burnt) with excess oxygen to produce
1.32 g CO, and 1.08 g HyO.The empirical formula of the compound
is:

{ molar masses( g/mol); C=12.0, H=1.0, O =16.0) - -

b} CH;0

Frrit Low
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2} CHG ) CH,0

}.32
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Consider the belenced eguation:

NH; + 50, = 4NCO + 6 5,0 e ﬁaﬁﬁ_ —oeh md 6
5 el
) !E CCC." Poiaane el n““’c"“'ig
A sample of 8.50 g NH; was combusted with excess oxygen. The
reaction produced 12.0 g of NG. Calculate the percentage yield of
WO molar masses (g/mol): N=14.0, H=1.0; 0=15.0)
e 7 . T :
100% by 806.0% . ¢} 60.0% d} 40.0% e) 20.0%
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13. Consider the unbalanced reaction: .
GOAL B30, AL,
Calculate the mass of ALGs(in g) produced from the reaction
maxture of 5.40 g Aland 3 42 gOs.
{ molar masses { g/mol): Al= 2’?.(}, O=1580) T —
T i a) 8.12 t::) g. 95 3 7.67 dyiz.4 M
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@. The net fonic equation for the reaction of nitrous acid with lithwem
hydrovide is |
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b) T{x\%{drj;(g«\ + i1 0}{(& -» Li' (2q) + NOg—(aq‘, + }"_{20(;) {
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13.  Which of the following pairs of aqueous solutions would mot
procduce a precipitate when mixed?

Tiganing
S 2} BaCl,and Ney,COs @Kﬁ&; and Fe(CIO,); —
DRL

¢} (NH;)3POy and Ca(NOs), d) Na&,S and FeCl,
ay A gy zid BHCI
14. In the following oxidation - reduction reaction,

SRS 1T:U 1 T —
ij (aq)_e_ Cl faq) ¥ SH(S)"}' I\G" {(ag) -» SDC}(, {aq) 5 N-Ow(v) I‘Lqu)

St JUYL\:) n bdusmipian L —\ —LS _,";_ - \‘f == 44 = e
) . o ; N
The reducing agent is Hifhadkiom -
—_‘-.:_ “;,\"‘_;!%--'5.1 ity s _— o
o 2) NG, by CI (:} S dy NG.~ e) H,O
ERRRGS o
g coqtd -
.
J .
i5. Whick of the following reactions is a decomposition, redox reaction?
,:__{‘EJ‘E 2 Ia} T
T ey L } ’?Cu« Ofs) = 4Cu(s) + Oqig) Sluompgiion , wede s .
— b} CaCOs(s) ~ CO{g) + Cal(s)  Truamparidn
s ¢} Mg(s)+ 2HCl(ag) — MgClhiag) + Hy(g) jactetieds

d) Cafs)+ Ofg}— Cal(s)  Lombiaden
e) NazSGf.,{aq) -+ BaC%g(aq)—} BaSO,;_(aq) + INeCl(ag) ﬁ}:ﬁ-b!-l: & O E?‘miuﬁ% b

16. Axn excess amount of sodium sulfate was added to 50 00 m] agueous
solution of BaCl,. If the mass of the precipitate formed was 1.467 g,
caleulate the molar concentration of chloride ions in the BaCly
solution. molar masses(g/mol): Ba=137.3; § =32.1, 0 =16.0, Ci=

33.5)
gy 0.217 b} 0.269 ¢y 0.234 dy 0327 e 0231
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Perform the following ¢ tion and give the enswer rounded to
the correct number of sign: ficant figures

(15.562-15.512)x 1000.0 = ~

2) 5 B) 5.0 <) 55 Osx10° . G510t e

R
N L\;‘f’ 6
-
@t = i - r
¢ (L kT b
Convert 3.6x107 g/L to mg/em Cueia 0T
2 N -1
a) 3.6x10 by 3.6x10 e
. 3 -3 . V=
d) 3.6x107 e) 3.6x10 ) I L
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The boiling point of a liquid “uthance is 5.0 K. What is tlvs 6 o T

—

temperature in Fahrenheit? - v - o
TR L
- R ne
a) -321 b} -288 £)/-353 d) 136 e)171 - -
A ‘ PO T
e Ly /__::(‘:_:= IR
- = AT =5 5
RN PL
Which is the correct formula for copper(il) phosphite? ~> = :

a) CuPO; bj Cus(POsk of Cu:PO; -
@) Cu(POL. - e/} Cus(PO3)s |

O RES™ oo
(w» i ' o\f_\?’ vy

Which of these choices is the formula for hydrobromic acid?

) KBr @) HBr ¢ HBfC  d)HBO: ) HBIOs .
AKeZ 1

‘Eu\i\\.—' 1
Calculate the number of moles of copper in 2.50x107 kg copper 1 e

a) 39.3 b) 3.93x107  ¢)3.95 397 €393 o

€D
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. _ ﬁ‘\:)F-"“; - —‘/
RPN N b
X }t . O N 2 \-,\ P e
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A compound containing only oxygsn and chlorine 18 7.4 % oxygen
by mass. What is the empiricai formula?

a) CIO by CLO ) Ci0y ) CLCs 2} Ch0s

Methanol burns up in air according to

2CH0H + 30, = 2C0, + 4H,0

What mass of methano! should burn to produce 185 g H,O?

a) 147 @164 ¢) 393 d) 733 o) 1410’
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According to the reaction
NO + O - O, + NG,

If 0.670 ¢ NO reacts wzth 1.240 g Os, how many grams of NO; will

sy

beproauced? SATES Ty AmeiNd g G2t RS i;a:‘_‘:_:--
—--:z.-—--—-—-“"" /-"'. —

t~
i

- A 3

g, L L e

o 330
#

a) 141 b) 0.709 @ 103 d) 0709 ) 0.740

Given 6Lig + Ny = 2 LisNy. 123 g of Li react with 33.6
g of N, to produce 11.3 g Li;N calculate the p61 cent vield 2z

Ty

a) 16.7 (&) 85.0 c) 680  d) 550 e} 540

d e “
]lm"\' [ % Zl‘ﬂo‘ﬂ -?Lr X\ . { )Z/_/

( duigle L eae Li ened Lig W

HEEy <

Based on the solubility rules, which of these processes will occur if
solutions of CuSOypq and BaClag are mixed?

@ BaS(O, will precipitate; Cu “and CI are spectator ions.
b) CuSO.will precipitate; Ba and CF 5:3 spectator 1ons.
¢) CuCl, will precipitate; Ba’ and SO4" are spectator ions.
d)} BaSO, will precipitate; Cu”" and SC,” are spectator ions.
e) No precipitate will form.

- " [T
— [ + 7 . [ -
— R i ) z ;
; Z.
N
- —
25 -7 Tao.,
- - e . CL — P
N [ pLA -



i2. The cridation number of §in Ma30, 18
(a): +6 5) +5 ey +3 dy -3 g) -5
‘\_"4
13. Which of these equations does ret represent an oxidation-reduction
reaction?
a} 3.(’%‘_1 + 61‘IC1 ';?’_,23 H, +h,‘” 1"-‘13 L1 1T _w
bl 21»\53(31 Pt (NO5), = PbCly + 2 NaNG;
C) QH';O%%HQ':" 2 =
> < ot — .
d) 2Nal + Br, = 2NaBr + b
e) Cu(NO3s + Zn = Zn(NO;)» + Cu
Y Ay = LR S L I
14, Complete and balance the following redox equation in a basic
medium. What is the coefficient of H,O when the equation 1is
balanced using the set of smallest whole-number coeificients?
MnQy, + T = Ma0, + 105 (basic solution)
o -
a) 10 b) 4 c) 2 a1 e) none of these
13. Caleulate the mass of MgCl; in grams required 1o prepare 5.00x107

16.

e ST
o=
S

mL ofa1.78 M MgCl, solution.
(Molar mass of MgCl, =95.2 g/mol)

a) 133 b 160 ¢) 106 d) 66.5 -’;)J) §4.7
— |
. = Al \‘\
TR X i e\.k\d.m
- i ‘\/) " g - w
A, k ; g;__)’:f‘s
How many milliliters (mL) of a 0.552 M HNO; are needed to0
neutralize completely 125 mL of 0.0120 M Ba{OH) solution?
a) 35.5 by 150 o 115 (@543 9 109 s
. o \‘ . — P } § ~ (A._‘\QT‘-:\Q")
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Circle the right answer for each of the following questions and put "X" on

the corresponding choice on the front page:-

I. How many significant figures are there in 1.307010
)3 b) 4 ¢} 5 d}6 ()7

2. Calculate the following arithmetic and express the resuit 10 the correct number of

™m

significant figures,
3.027 +13.70
§.221

a)2.03 by 215 (S)2.035 d) 2.06 2} 2.059

3. The average distance from earth to the sun is 7.3 X 10’ miles. How many

kilometers is this distance? ( 1mile=1760 yard, I m= 1.094 vard)

‘ ; a et - P / . ' g g o

Ziwte’ @ o 1 FEC et L meber = [HFTr *
il s i e 2 3 [

(@ 12X i0° b 73X1070 53X 16° d) 15X 108 e)8.5X 1{36
7 E. ll‘(_«lX
4. A metal melts at 7010 °C. What temperature is this in °F 7 Tos e

EGEG - Ex-%—c

a) 733.8 1)1294 c} 3664 4) 933.8 g) 1114
5. The chemical formule of Caleium phosphate is:
a) CaPCs b}CasPn ¢ Cax{POy)s () Cas(POs) e} CazPs)
6. The name of the chemical substance with the ormula Cr8Q4 is
(@) chromium(Il) suifite b) chromium(Il} suifete ¢} chromium suifide

d} chromium(l} sulfite ) chromium sulfur oxide
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7. The element oxvgen consists of three naturally occurring isotopes: '°0, 70 and
1 .
7. The atomic mass of oxygen is 1€.0 amu. What can you learn about the relative

abundances of these isotopes? { Atomic mass for '°0=16.0, 70 =17.0,1%0 = 18.0
amu)

} More than 50% of all oxvgen isotopes are 'O
(BY The abundences of O and 80 are very smail
¢} Almost zll oxygen atoms ar. Q.
d) All isotopes have equal abundance of 33.3%

e} Almost all oxygen atoms are '*O

in an excess of oxygen, 1.35

Whenr 0.952 g of an organic compound containing C, H and O is burned completely
i 2 35gof

CO: and 0.826 g of H-0 are produced. What is the
e . - T - L W . L G
empirical formulia of the compound? e

RS
5 \! r:n;.'s(’_@:b—'* i
. %353 N

L : = =% 2 of
§ —
(-9 - C ‘: :;__ ( ;‘, .L g ' T
=) i ool o ) & 3 .H
272w et i (O — < g
G ¢ Q\ b
A=t e - e g X L e
o, 1. % mdd 5 Loy ‘_,ff
R S R N oo - K ‘ 2y —s Hly C .
“cn . {“”"GL( ——3(‘3(; OO ¥4t o
@CzHﬁG b} CsHsOg C-) ‘,.;30 d‘) C4H’;O4 e} ijﬁ
{,"’9‘ the percentage composition of e chemical compound is: 32.01 % C, 4.03 % H and
63.9¢ % C. Given that the molecular mass of this compound is 300 amu, what is its
Flr) T B p
i, & (D o T T LS LR
molecular formuia? - ! - i
s o l ?:U‘-“" P 7 v, e AT L 'r?_‘ 2- FIO emetes
{,a S .-\H ""‘““:\ E - ' g b o ( 4
teh A R 4 A2 £ 7
; i s Mo e i A 74
[, AP
" & (A B
a) CH-Og b) Colialh ¢} CaHeOg @ CeHo fb) CgH 12042
[¢. The averayge mess (in grams) of one hundred iron (Fe) atoms is
TN I TS 3 — 55 26 |
P ey ‘\\
- A9 - - 12 2
2) 6.02 X107 ¢ 928X 10% g ¢) 9.28x10% ¢
i) 55.85 ¢

¢} 3585 W 10™% ¢

9 6%
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Date of fxam: 3 4 72008, Page V.

Quegtion (L5 1-307010 = 3 synificant Fgures.  choice @]
’ Remember Hiad (2 2eroes befween nonzemes ave significants.
€ «  to Herghtol no- are signibicank of they preceedsd
bq afé&fﬂ'mﬁ Pﬁm';‘
((i8) zermes locoted between © Oc‘) decimal por 1{-&’% !s}

novi xS ho. aré nok 81gmﬁrganrf-
3.027%+13-70
<221

1 We mush the dus ne. , Regp i mind Hod Hie arswer sheuld hase 2 decimal places.

2 Theanswer 61 1) shauld be divided on 8221 , TAL arswer would hane &4
significant Foures

= 3.00F+ B30 = 16 FIT & 1423

= 56‘?3/’8’225 = 2:035  choicz {C]
QuesHan[3] 3 using Factor tebel methods

P30 mile ——, 77 k.

Qu.eshion [7)4

r
1

23 X0 mile x 1360 yast I g -
imﬂé’ }GQL(_{‘BQS?"F 1006 wee
%
B = D2XI0 K Choicé‘Ej
Question G158 e
: ‘—EGFZ' ':"-f\ éC }{ T 52 6F
= TeF = 01.0% % 4°F +32°F = [29%4 °F.

5°C
QuesHon 53¢ Cal i Phesphafy .

Co hakes Fixed chavrge = 24
po{{ 4 o r; = B~

We Zombive fhar, bub ﬁw. wﬁ charge mush equal 1o zero.
fz-f

¢ (POL{)E—- —= Ca Uﬂ Cq3 (FUL;) ’ho;ce@

. 3
. i .o P
LD :_,_)_) ‘_i:,__r:; Ejf-’ \5 S (‘\_/\___w_;\}; \
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Paie of Fxam: 374 72005 Page 2. l
Qouestion 6] § Cr S0y i

@) Cr : means Chromium

(B DWs: meons sullile anion wibh a charge o -7. F
(¢} becauss He rabio between the fto comporentic 237 - | ]
W Cr™ musk be 2+ becausz He everall charge must equal to zers. i
@ Cr (s+vansiton Wkl Elgmant, oxidetakion no - shoid b put betwesn i

touo brockefs -
(}J Th name slarks From codion (Leb) fo Aion ¢ f?ig/#)

Chromiun (1D sulbke  chaice [@]

|
|
|
Question [F]8 Oxygim consits of 3 dilferent Ssofopes !éo ’ B /Ié !
The oot ofomic mass o OXYa = |6 amul.
. A ¢ i ) ‘% ne. wner ama.fj
1405 clegr Hal Relebive Pearcend abundances ol 0% 'Ca g ey
because the owirogl s almosk equal fo 16.
T he ansmer & Choice

i Detatled Answers Fom'The ( I | leur BExamy OF (Cl'lﬁfl]’liStf}’ 101 ) }

Buestion B} & mass o organic Sampit= 0 95) 5

|

|

|

|

I

c ﬁ O |

oraarmc Sa.mpﬁ’i 40y ———3 (0a 4 H20 |

[-353 0.826 g |

pr_'cm COs , we can find e mass o C. |
;r‘am H‘LOf A & A Lo 5[’ H ]
Thon, mass of somplz ~ (€ 4H) = mass & Oxy3 38 |

After thob, e have fo calculabe mo- o moles of eaach, Hhen Bind the empérical Bormub|

Now 1{:02 . {C—FQO

1359 13
135gx ol - lmet€ | j20ly
4408 40 Imd€Er _qpalies

O 5 2H 10

03244 173
0126 g bt o IO, dnd H L00H 05 g,
/ 3:%5 70 H {'g{i,cz_f;j'-;’{ = | o _ﬁff’r— b
Mass o O = bl mass o organic ~ Cmﬁ&ﬁaﬁ C 5 massof H) ={(04952 -(O'SGE*%OM%
JA'_-)S ﬂ.n;:\-é\'\,’- :\fji :o.qq‘ziﬁ G . ;

- e
07998880658 23-;_;-5.:31 g5 )L...é:...:‘)’d
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Deatied Answers For The ( ¥ Hour Exam) Of(Chemistﬁ"y 101)
Date of Txam: 3 /4 /20605 Page 3.

|6 you {eoked mmFtaii«j ¢ you would Find that we have caleulobed no. of molts ol ¢ and H.
' ol (02 b {mal .C
44.00 Wy tmol €Oy

dies of H = 0826 of HoO x ol O 2melH M
mote s of 0-826 o H0 i%-oaHzox ‘dew_ooq{% mol

woles @ C = 135 gek (02X 0.036% mal €.

molts 0 = 04929 6F ¢ x Imd O w0308 mol O
6050
Nouss
C HO = Coomwr Hooag Opaqyg + dideon o.czen

C Hzg O, chojce [}

Wueskon (Gl 8 AsSume we havwe 105 A ‘ ey
& onlS)8 . 103g sample ; Fharefoe alfl pereertages witl be conperied
o mMaes -

o C=3lol , AH=403 ,%0-=63.96 E

Do Fhe mosges are b
: W
Mass C‘i o= 3'20!3 ! massof f‘!: 4-03% r RASS G O = 630;(3 ﬁ .

R o e e e e e e o e e

30l g dox ImolC = 246+ md C. .
E !2.03 - i
‘fﬁEgcﬁHx—-!—m"H = 4-0600 molH.

-y ?
I-O%H _

53.5,-5510;50 x Amel O = 4.ooe melO .
fé,-OOﬁO

g H,, © 1% ,rf%l-‘h»rMu!lej by
Cg H‘l O .

tolor mass of CeHpOp = BCO) + 12¢0) + o) = s+ 20+ 12(1€)

i

N

= BOO amy .

e m}?’z‘-—g{ay' ST aﬂ f'\éa./ compomef N {ee
malar mass ol empiviea] frmale | 200

=/

[’;M o ¢ cular bormula « ny f‘fméfnpén'm? /;rmufq.
L

T he male color Fovmudo = Cy Hp My chaore )

[ f
T =
S I B 3 }
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Detalied Answers For The (1sf Heur Evem

Date of Exame: 374 52008,

Chemistry 101

agcd

y Of (
]J

Quishon fio) & Sf.-m}egbz?

Q{T)m 3, m@!

100 Fe aobom x-—im{ He

L
—

MAss

S5.%9

bid
£.07 % (0™ abom

UNFORETUNATELY , #he 37 pagy of & 2o

frol Fe

-2
=4q.2%X0 ¢ Fe.
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Agswer each of the following questions and put "X" on the correct choice
on front page:

1.

5.

The number of significant figures in the value { 0.0020300 ) is:

a) 3 b) 4 &s g 6 e) 7

Perform the foliowing calculation and report the result to the correct
number of s:.:,nmcant figures:

4 — ~
(1.57 x 10 }16):10%}(2.&246
.a : N A3 -~ -3
@6.951x10- b 6.95133x107 ¢} 6.55x107
d) 7.0x107 e) 6.9513x107
If the density of an object is 5.62 gfemy’, calculate the mass { in
pounds) of the same object whose volume is 2 00 .. (Given: one
pound = 454 g, one {t = 30.5 cm).
N A ~y L
a) 452 by446  c)827 (@702 e) 577
The correct name for AI(FISC,)s ist
() alum num hvdrogen suifate. b) aluminum sulfate.
¢} aluminum(Il) hyarogen sulfate. ¢) aluminum bydrogen suifite.
e) aiu"mnum hydrogen suifide

+

binations of name and formula is

1

Which of the following comb
wrans 7.

a) hydrosulfuric acid ; HaSguqg) -
b) dichloring pentoxice ; Cl,Os
¢) rpercu r'vf‘) peroxide @ HgCs .
(dj ifron i iirate ; ‘“e{}-?@;)

e} sodium IW"'socn phosphate; | in, HPO,



6. Mg has three stable isotopes. Given a sampie of Mg with the
following masses and percent abundances:

g :23.9850 amu, 70.42%
g :24.9858 amu, 15.22%
g1 25.9826 amu , 14.36%

t.)

=3

4
—

The average atomic mass (in amu) is:

2) 24.31 b)24.66  c}24.82  d)24.54 (Ey24 .42
7. Aspirin has the molec 1 formula CoHgCy (molar mass = 180.13
g/mot). Calculate the number of carbon atoms in 300, mg sample of
aspiria.
(mg =107 e, Avogadro's namber = 6.02x107)
= & 2
2) 1.20x10° 519 02x10% ) 1.80x10™
1l 12
d) 1.50x10 e) 2.41x10%

8. A compound containing only carbon and hydrogen is 82.8 % carbon
by mass. [f the mo‘ar ass of the compound is 58.0 g/mol, calcnlate
the molecular formuia of the compound?

Ay GHo  BCHL 9CH,  §CHe o Cle

9. A sample of compound contains 7 20 g carbon, 1.20 g hydrogen and
4.29 g nitrogen. The empirical formulc_ of the cou.pound s

a) CHiN b) CHN, (B GHN @) Coighs ¢) CHil;



i0.

1L

[y .

Consider the reaction:
CHCI; + Cl, = CCly + HCl
When 23.9 g sample of CHCI; was reacted with excess Ch,252g0of
CCl, were produced. Calculate the percentage yield of CCl,.
{ Molar masses ; CHCl3: 119.5 g/mol ; CCl;: 153.8 g/mol.)

a) 722 53949 ¢ 819 d)88.4 e) 62.8

Calculate the mass of sulfur, S, produced from the reaction ¢ 183.6 g
15,8 and 6.52 g O, according to the unbalanced eguation:

{Molar masses (in g/mol) ; Ha8 =34.08; Oy 32.00 . S:32.06)

ay13.1g b) 11.5g ¢y 135g d) l84g g} iS4g

T

Calculate the mass of K3PO;, (moler mass = 212.27 g/mol) needed to
prepare 2500 mb of an aqueous schution in which PG
concentration is (.0220 M.

2) 233g by 426g ) 292g d) LiTg e 1L75g



19.

Which of the Loliu ving pairs of aquecus solutions would not

produce a prasipitate when mixed ?

pare

a) NaZS();(aq}:Pb(-‘JO;) = b) NaOHgy + AlCligg
¢) HClug AZNC;3uq é) CuClyyy + NasSCupg
&) Na;POuq + CaCling

If 4587 mlL of 0.254 M NaOH were required io completsly

! 3
neuiralize 1542 mlL of H.8C, solution (to preducs NoSCu).
Calculate the molar coacentranan of Ha80, seolution

dfoste  byost o228 d) 0269 e

s
=
[Wh]
N
)

The oxidation number of carbon in CHC is:

CF

)
i~

a) -1 s

§

Balance the follewing reaction (in acidic medium}
G B+ SO F=d 8 g B0
r T 2. 1 1 Lt a
The ratio H-O/ SO, in the balanced equaiion 18
- %

a) 5/3 b) 573 A3 32 ) 574 e} 5/1
(=7 4
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